

EQUADIFF 6

Michal Greguš

On a certain boundary value problem of the third order

In: Jaromír Vosmanský and Miloš Zlámal (eds.): Equadiff 6, Proceedings of the International Conference on Differential Equations and Their Applications held in Brno, Czechoslovakia, Aug. 26 - 30, 1985. J. E. Purkyně University, Department of Mathematics, Brno, 1986. pp. 129--132.

Persistent URL: <http://dml.cz/dmlcz/700182>

Terms of use:

© Masaryk University, 1986

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ON A CERTAIN BOUNDARY VALUE PROBLEM OF THE THIRD ORDER

M. GREGUŠ

*Faculty of Mathematics and Physics, Comenius University
Mlynská dolina, 842 15 Bratislava, Czechoslovakia*

1. The boundary value problem of the form

$$(1) \quad y''' + [f(x) + \lambda g(x)]y' + \lambda h(x)y = 0$$

$$(2) \quad y(-a, \lambda) = y(a, \lambda) = 0, \quad a > 0$$

$$(3) \quad \lambda \int_{-a}^a [r(t) - k] \{g(t)y(t, \lambda) + \int_{-a}^t [h(\tau) - g'(\tau)]y(\tau, \lambda)d\tau\} dt = \\ = \int_{-a}^a [r(t) - k] \{f(t)y(t, \lambda) + \int_{-a}^t f(\tau)y'(\tau, \lambda)d\tau\} dt,$$

where $f'(x)$, $g'(x)$, $h(x)$, $r''(x)$ are continuous functions on the interval $\langle -a, a \rangle$ and k is a constant, will be studied.

The boundary condition (3) is in the integral form. For the first time, such a condition was formulated in [1] and the problem (1), (2), (3) is a natural generalization of the problem discussed in [1].

It will be shown that under certain conditions on the function $r(x)$, the problem (1), (2), (3), is equivalent to the boundary problem (1), (4), where

$$(4) \quad y(-a, \lambda) = y'(-a, \lambda) = 0, \quad y(a, \lambda) = 0 \quad a > 0.$$

In order to solve the problem (1), (4), the theory of the third order linear differential equation [2] can be applied. Moreover some special results will be formulated.

2. Consider the problem (1), (2), (3). Let the functions f , g , h , r fulfil the conditions formulated in Section 1. Then the following theorem is true.

THEOREM 1. *The problem (1), (2), (3) is equivalent to the problem (1), (4) if the function $\kappa = \kappa(t)$ solves the problem*

$$(5) \quad \kappa'' + f(t)\kappa = k f(t)$$

$$(6) \quad \kappa(-a) = k, \quad \kappa(a) = k.$$

Proof. Integrating the differential equation (1), written in the form

$$y'''' + \{[f(x) + \lambda g(x)]y\}' + \{-f'(x) + \lambda[h(x) - g'(x)]\}y = 0,$$

term by term from $-a$ to x , $x \leq a$, and considering (2), we get

$$y'' + f(x)y + \lambda g(x)y + \int_{-a}^x \{-f'(\tau) + \lambda[h(\tau) - g'(\tau)]\}y(\tau, \lambda) d\tau =$$

$$= y''(-a, \lambda).$$

Now suppose that $y''(-a, \lambda) = 0$, multiply the last equality by $r(x) - k$, where k is a constant, and integrate it from $-a$ to a . We come to the equality

$$(7) \quad \int_{-a}^a [r(t) - k][y''(t, \lambda) + f(t)y(t, \lambda)] dt =$$

$$= \int_{-a}^a [r(t) - k]\{g(t)y(t, \lambda) +$$

$$+ \int_{-a}^t [h(\tau) - g'(\tau)]y(\tau, \lambda) d\tau\} dt -$$

$$- \int_{-a}^a [r(t) - k]\{-f(t)y(t, \lambda) + \int_{-a}^t f(\tau)y'(\tau, \lambda) d\tau\} dt.$$

The right-hand side of (7) contains the expression which stands in condition (3). Therefore it is necessary to prove that the integral on the left-hand side of (7) is equal to zero.

Calculate this integral. Under the conditions (2), it follows that

$$\int_{-a}^a [r(t) - k][y''(t, \lambda) + f(t)y(t, \lambda)] dt = y'(a, \lambda)[r(a) - k] -$$

$$- y'(-a, \lambda)[r(-a) - k] + \int_{-a}^a [r''(t) + f(t)r(t) - k f(t)]y(t, \lambda) dt.$$

This implies that the boundary condition (3) will be fulfilled if $y''(-a, \lambda) = 0$ and if the function $r(t)$ solves the boundary problem (5), (6). Thus the theorem is proved.

3. In [3] the problem

$$(8) \quad y'''' + \{[1 + \lambda g(x)]y\}' = 0$$

$$(9) \quad y(-a) = y(a) = 0, \quad \int_{-a}^a (\cos t - \cos a)g(t)y(t) dt = 0$$

and its generalization

$$(10) \quad y'''' + [1 + \lambda g(x)]y' + \lambda h(x)y = 0$$

$$(11) \quad y(-a) = y(a) = 0, \quad \int_{-a}^a (\cos t - \cos a)\{g(t)y(t) + \\ + \int_{-a}^x [h(\tau) - g'(\tau)]y(\tau)d\tau\}dt = 0$$

where $a > 0$, $g'(x)$, $h(x)$ are continuous functions on $(-a, a)$, were discussed.

REMARK 1. The problems (8), (9), and (10), (11) are special cases of the problem (1), (2), (3).

Clearly, if we suppose $f(x) = 1$, $h(x) = g'(x)$, $k = \cos a$, we get that (8), (9) is a special case of (1), (2), (3) and from Theorem 1 it follows that $r(x) = \cos x$. Similarly, if $f(x) = 1$ and $k = \cos a$ we get that (10), (11) is a special case of (1), (2), (3) if $r(x) = \cos x$ and $k = \cos a$. But $r(x) = \cos x$ solves the problem (5), (6), where $k = \cos a$ and $f(x) = 1$.

In [3] it has been proved that under the condition $a = \pi/2$ the problems (8), (9) and (10), (11), respectively are equivalent to the problems (8), (4) and (10), (4) respectively.

Now we prove the following theorem (the formulation will be only for the equation (8), in the case of the equation (10) the equation is similar).

THEOREM 2. Let $g(x)$ be continuous on $(-a, a)$ and let $0 < a < \pi/2$. Then the problem (8), (13), where

$$(13) \quad y(-a) = y(a) = 0, \quad \int_{-a}^a [r(t) - 1] g(t)y(t)dt = 0$$

is equivalent to the problem (8), (4) if

$$(14) \quad r(x) = \int_{-a}^a G(x, \xi)d\xi + \varphi_1(x) + \varphi_2(x),$$

where $G(x, \xi)$ is the Green function of the problem

$$r'' + r = 0, \quad r(-a) = r(a) = 0, \quad 0 < a < \frac{\pi}{2},$$

$\varphi_1(x)$, and $\varphi_2(x)$, respectively, are the solutions of the problem

$$r'' + r = 0, \quad r(-a) = 1, \quad r(a) = 0, \quad \text{and of the problem } r'' + r = 0, \\ r(-a) = 0, \quad r(a) = 1 \text{ respectively.}$$

The proof of Theorem 2 is similar to that of Theorem 1. Integrating (8) term by term from $-a$ to $x \leq a$ and considering (2), we get $y'' + y + \lambda g(x)y = y''(-a, \lambda)$.

Let $y''(-a, \lambda) = 0$, multiply this equation by $r(x)-1$ and integrate it from $-a$ to a . We obtain

$$(15) \quad - \int_{-a}^a [y''(t) + y(t)][r(t)-1]dt = \lambda \int_{-a}^a [r(t)-1]g(t)y(t)dt .$$

It is necessary to find such an $r(x)$ that the integral on the left-hand side of (15) be equal to zero.

Calculating it we get

$$\int_{-a}^a [y''(t) + y(t)][r(t)-1]dt = y'(a)[r(a)-1] - y'(-a)[r(-a)-1] + \int_{-a}^a y(t)[r''(t) + r(t)-1]dt .$$

From this equality it follows that $r(x)$ must solve the problem

$$\begin{aligned} r'' + r &= 1 \\ r(-a) &= 1, \quad r(a) = 1 . \end{aligned}$$

Thus the theorem is proved.

REFERENCES

- [1] Lockschin, A., *Über die Knickung eines gekrümmten Stabes*, ZAMM, 16, 1936, 49-55.
- [2] Gerguš, M., *Linear Differential Equation of the Third Order* (in slovak), Veda, Bratislava 1981.
- [3] Greguš, M., *On Some Application of Ordinary Differential Equations in Physics*, Proc. Third. Conf. Diff. Equ. and Appl. Rousse 1985 (to appear).